the-g vh2A Adstolet.
HFDXHDX (D X (=) X (=1)e
(=X ()X (DX (=) X (=) X (=)o
(+3) X (+3) X (+2) X (+2) ®
()X (=4) X (=3) X (=3) X (=3)

(=5) X (=5) X (=5) X (=2) X (=2) »

o (-5)°x (-2)
o (-4 x (-3)°
(=32 x (-1)*
o (+3)?x (+2)?

o (+1)’ % (-1)°

> cCt
HD) X (+1) X () X (-1) X (-1)
(=3) X (=3) X (=) X (=) X (=) x (1)
> HE: (+3) X (+3) X (+2) X (+2)

(=) X (=4 X (=3) X (=3) X (=3)

(=5) X (=5) X (=5) X (-2) X (=2)

B

(-5)*x (=2)*
(-4?x (-3)°
(=3%x (-1
(+3)%x (+2)?

(+1)°x (-1)?

HFD) X FD X (DX (1) X (-1)

(=3) X (=3) X ()X (=) x (=) X (-1)
(+3) X (+3) X (+2) X (+2)

()X (=4 X (=3) X (=3) X (=3)

(=8) X (=5) X (=5) X (=2) X (-2)

(-5’ x (-2)°
(9% (-3)°
=32 x (-1
(+3)?x (+2)

(+1)?x (-1)?




ohe I3 22 o] glek. THeIA HEBA B PAL 20,
x5, B B AL 1059 1, o] illo] B
o gupelr}? (, ghefet A9 BAE BAST,

olzttd
A2 g TGl miie)

20g

20g

10 + x4+ x + 10 = 20 + 20,
2x + 20 = 40,

2x = 20,

Sox =10
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9
r=—3

=» —3r

5w —3r=5+4

—-3z—4

(& cz0)olth.

SHIRS)

o] o] go] ofd 22 Lprol %

Al
Al

Ho




> E
> =
> E:
> EE: ©
> de: g
> EE. O

~&B

@ (~15)+3+(-2)2x(-1) = (—15)><%+4><(—1) = _5-4=-9

o (2)n(3) e = (L)og-ceca-




AN o o i 3 =oh= x, y ol st x:y & 7R 244

—X— Yy = =

107 2 5
o] W= vepd 227

Fo17l A9 FH o] 105 &SI
3x— 5y = 2x + 4y

x =9y

et x:y=9:1 0]tk




